N & 0l & AF S & M M

20169 = S0l& LA MSASW
R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 8,276,763 12,515,158 A4,238,395
Xl 800,000
J| 167,659
= 793,495
Al 6,515,609
HsolzZet A5 (23e22/H=) 7,795,996 12,295, 164 A4,499,168
X 800,000
J| 167,659
< 793,495
Al 6,034,842
HsAE &= 3,820,700 5,810,800 A 1,990, 100
Xl 800,000
< 570,000
Al 2,450,700
SSHSANE 23 57,000 265,000 208,000
203 YR =] 2,000 0 2,000
03 Al =AY R =& 2,000 0 2,000
Ox=szsEg:® =2 2,000,000& = 14 2,000
401 Al HIZ 201 Y| 55,000 265,000 A210,000
01 A& HI 55,000 263,200 A 208,200
OZ2JIH =32 LEDS WM S A
55,000,000& = 14 55,000
SUMSAE 2¢ 63,700 45,800 17,900
201 Let249] 3,700 5,800 22,100
02 =24l 3,700 3,900 A 200
OFRE &I3MERES 50,000& * 23 100
OsR% dIIe3 200,000 * 123 2,400
OQIetIAHOIER HIRS
100,000& » 12& 1,200
401 AIEHIZL 201 60,000 40,000 20,000
01 A& HI 60,000 40,000 20,000
OSUHMSEAE 2317 £X
2,000,000 * 1000 2 20,000
OsUHSsSAE 23717 ==0H
2,000,000 * 1090 2 20,000
OSUHMSAE 2317 2=
200,000& * 100& 20,000
AXTMHAUNSSEAE (F) 2,000,000 1,500,000 500,000
401 AIEHI L 201 2,000,000 1,500,000 500,000
01 A& HI 1,969,400 1,494,600 474,800
OAZXHEH AU=ZE AE
1,969,400,000& * 14! 1,969,400
02 2feltl 30,600 0 30,600




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OrE=dH AU+gz Jd
30,600,000& * 14 30,600
G MBI ZHME() 1,700,000 0 1,700,000
X 800,000
< 570,000
Al 330,000
401 A& HIZ 201 I 1,700,000 0 1,700,000
Xl 800,000
< 570,000
Al 330,000
01 A& HI 1,700,000 0 1,700,000
OgFU4+H MBS TAEY
1,700,000,000& * 14 1,700,000
X 800,000
< 570,000
Al 330,000
H=sad =4 3,975,296 6,484,364 A 2,509,068
J| 167,659
< 223,495
Al 3,584,142
IEANH=E2L 30,000 30,000 0
307 21201 A 30,000 30,000 0
03 QIZtHHHE2HHEX 30,000 30,000 0
OgFANHEs 2L (28 FAH)
30,000,000& =14 30,000
AYE |4 40,000 40,000 0
307 21201 A 40,000 40,000 0
02 QIAFAANFEX 30,000 30,000 0
OagERMs AJNRE N (#2428
A)NEZTs FH) 30,000,000& = 14 30,000
03 QIAHMEE2IHIES 10,000 10,000 0
Ost=a=MY 29 NA(2ZS FH)
10,000,000& * 14 10,000
oM sH XA 38,660 43,000 A 4,340
301 et A= 3,660 10,000 26,340
09 &AL HIZ &S 3,660 10,000 A6,340
Od=ZMAM=U HItA 0H|
90,000& * 144 1,260
OXMeIE=ENsUHE &8 XF Al
800,000& * 3&= 2,400
307 glz2+ol & 30,000 20,000 10,000
02 QB HAANGEEE 10,000 10,000 0
OZofe HHESIHWA 24
10,000,000& * 14! 10,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 20,000 10,000 10,000
OM183 ZEZ=ZHMHAMSUI EHFH(Ex
g %) 20,000,000& =« 13l 20,000
402 2I2H X201 M 5,000 13,000 A 8,000
01 B2t AL E X 5,000 13,000 A 8,000
OXFOMLEH ZHHI(XFUH L ADHEE &)
—eH XA 5,000,000& = 14 5,000
=AU =S X2 310,000 310,000 0
307 21201 A 310,000 310,000 0
04 DIZHHALALSE E X 310,000 310,000 0
ORM37sl I=AQMSUS H2BH (B
H) 100,000,000& * 13l 100,000
ORM37sl I=AQXMSU SHS KNI (BxE
T oK) 10,000,000 * 197K 190,000
ORM37sl =AU 0S8t XNA(2
T8 HNH) 1,000,000& * 207K 1! 20,000
ZEZUMSUHIE IR 280,000 390,000 A110,000
307 21201 A 280,000 390,000 A110,000
04 QIZFHALAIH B & 280,000 390,000 A 110,000
OHM54s ZE2CHSUHE HIHZEH(EXEE &
oH) 260,000,000 * 13 260,000
OXMb4sl 22 MESUa L&A 2l
0,000,000 = 14l 20,000
NZEANE2SZIESLENA (L) 1,170,000 1,153,000 17,000
< 170,000
Al 1,000,000
307 21201 A 1,170,000 1,153,000 17,000
< 170,000
Al 1,000,000
02 QIAFAAFEX 1,170,000 1,153,000 17,000
OagE (84,24 ,25%) 84 X&
1,170,000,000& * 14! 1,170,000
< 170,000
Al 1,000,000
ANZOHENNMESE SR (F) 97,632 48,576 49,056
J| 48,816
Al 48,816
307 glz2+ol & 97,632 48,576 49,056
J| 48,816
Al 48,816
02 YAFHAANFEE 97,632 48,576 49,056
OAN=ZoiZ2d daHSsX A B Xl
24,408,000& = 4H 97,632
J| 48,816
Al 48,816




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
ANZMEYS KSR (2) 146,448 145,728 720
J| 73,224
Al 73,224
307 2Iz2t0| A 146,448 145,728 720
Jl 73,224
Al 73,224
02 QIZHEAAIRE E X 146,448 145,728 720
OANZMEN S K =X BHX
24,408,000 ~ 6H 146,448
J| 73,224
Al 73,224
ANZMENESES2IYI XA (Z) 52,790 29,390 23,400
= 5,390
Al 47,400
307 212t0| & 52,790 29,390 23,400
o 5,390
Al 47,400
03 QIZEHY P ESIHIEX 52,790 29,390 23,400
OMEH=3 294 X& 52,790,000& = 14 52,790
= 5,390
Al 47,400
MEHEDNASI(Z) 28,836 28,836 0
& 8,640
Al 20,196
307 2iz2to| A 28,836 28,836 0
& 8,640
Al 20,196
04 OIZ2tSHAFALSE B X 28,836 28,836 0
OMdEsna (2, uA 5) 249
28,836,000 * 14! 28,836
& 8,640
Al 20,196
AU SAAMNE(Z) 65,170 65,170 0
J| 45,619
& 5,865
Al 13,686
307 2iz2to| A 65,170 65,170 0
J| 45,619
= 5,865
Al 13,686
02 QIZ2IA AAIE E X 65,170 65,170 0
OAaZ==2xo|l2d X 65,170,000& * 14l 65,170
Jl 45,619
o= 5,865
Al 13,686
AFAMAOICIEUWI XN (Z) 240,000 240,000 0




SN HSXED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 30,000
Al 210,000
307 glz2tol & 240,000 240,000 0
< 30,000
Al 210,000
04 QIZFHALAIH 2 = 240,000 240,000 0
OZ=AuAOtetEMHE 240,000,000 » 14 240,000
< 30,000
Al 210,000
ANEINIESSEMSUHE X 27,000 24,000 3,000
307 21201 A 27,000 24,000 3,000
04 QIZFHALAIH B = 27,000 24,000 3,000
OANEI 522 H=Ua NI (LLE)
3,000,000 * 98 = 27,000
studEs4did 155,000 153,000 2,000
307 glz2tol & 155,000 153,000 2,000
02 QIZtE A AHEE 140,000 140,000 0
O stuHd=ssotel 54 50,000,000& = 14 50,000
O HSSIES 84 L HAZS 54 90,000
- SJ&s 2,500,000& * 103 =2 25,000
—FHUAEBS 2,500,000& » 10&8= 25,000
—HEH=sss s4(84 8)
40,000,000& * 13l 40,000
04 QIZFHALAIH E = 15,000 13,000 2,000
O &8 2Z MsUa FHZH(Exs FY
) 1,000,000& * 103l 10,000
O Mb53s F=ZEMsUE ot X
5,000,000& = 13l 5,000
dEdslctasidE 5,760 2,560 3,200
301 et d = 5,760 2,560 3,200
09 HALAHIEA S 5,760 2,560 3,200
OMENNSXNE A A &It
90,0003 = 8H * 2& » 43 5,760
UL EHAEIBEINESENSUHS KA 25,000 16,000 9,000
301 LAz 25,000 16,000 9,000
09 AL HIE &S 25,000 16,000 9,000
O ®2HE ¥ SAHBIFI E2 &F
1,250,000& * 20&= 25,000
SEXNADIESEUEHSUHI XA 25,000 16,000 9,000
301 et a3z 25,000 16,000 9,000
09 &AL HIZB &S 25,000 16,000 9,000




2N
X ZH -
L= B

el

H=dsh
HsolzZet = (23
Hsgd &4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEXA =2 dEdsds =8
1,250,000& * 20&= 25,000
NESELUH X 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OAl NE& dgiial 5,000,000& = 13l 5,000
O NEZ &2Us 8,000,000& = 13l 8,000
O&= NEZ deiisl 2,000,000& =« 13l 2,000
=L ECHMENSUHE R XIXE 89,000 80,000 9,000
201 ¢4l 1,000 0 1,000
01 At 22l 1,000 0 1,000
O&=0sa KX 222 M=
50,000& = 2& « 103l 1,000
307 gl2tol & 88,000 80,000 8,000
04 DIZHHALALSE E X 80,000 80,000 0
OX=LCH? SSE dEHMSUHI KX
20,000,000& = 4043l 80,000
06 283 8,000 0 8,000
o4& M=ls 2= 2,000,000 = 43l 8,000
NHEANZHALSHEHSHS XA 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 QIZFHALAIH 2 = 30,000 30,000 0
OXNMMEAIZE FHMEHSUHS HE(SZEA,
Z2 Al 25,000,000& * 13l 25,000
OXNMEAN=E dHdUHNSUHE S 3|
5,000,000& =+ 13l 5,000
HEHSUHIASEXH 115,000 115,000 0
307 glz2tol & 115,000 115,000 0
04 DIZHHALALSE E X 115,000 115,000 0
OZE02d MU S (EX8 FYH)
20,000,000& = 13l 20,000
ORM263 ZEZAMEHSUHI EH(EXE &
o) 70,000,000& * 13l 70,000
02016 =PI EH s -2 A(FFAYE) S2U
3 = 25,000,000& = 13l 25,000
AMIAZZ I T2 XI& 26,000 13,000 13,000
307 glz2tol & 26,000 13,000 13,000
04 DIZHHALALSE E X 26,000 13,000 13,000
OAlgl A28 2I10H3 13,000,000& * 23] 26,000
2= D=2 UHSIXNE 12,000 12,000 0
307 glz2tol & 12,000 12,000 0




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 12,000 12,000 0
OZS5cld Ndgud =203
10,000,000& * 13l 10,000
OZ=Sed s sd(ExE8 3Y)
1,000,000 * 28 2,000
ANFISSEUENSUHS XA 24,000 24,000 0
307 gl2tol & 24,000 24,000 0
04 DIZHHALALSE E X 24,000 24,000 0
OANEIl 5= dEMsUH
3,000,000& * 8&= 24,000
F=ZICMIN S KA 85,000 78,000 7,000
307 21201 A 85,000 78,000 7,000
04 DIZHHALALSE E X 85,000 78,000 7,000
OHMosl =3Il atl MEME s5U=xH
=0z 24,000,000& = 13l 24,000
OHMosl dxF=3JIClatl B=EsSUH0E=H
=] 15,000,000& * 12l 15,000
OHM4sl A= SINUAYEA E2sSUAMNEUE
19,000,000& * 13 19,000
OHM39sl F2J1elal 8250 L 0l=Hl
LIATHS 27,000,000 = 14l 27,000
MEHMSTUHEHUHE XA 55,000 39,000 16,000
307 21201 A 55,000 39,000 16,000
04 QIZFHALAIH B = 55,000 39,000 16,000
02016 SFAIYUTHEHEHIITH 2
10,000,000& * 13l 10,000
OHN4sl st JtES
45,000,000 = 13l 45,000
dI =AU XA 100,000 30,000 70,000
307 glz2tol & 100,000 30,000 70,000
04 QIZFHALAIH E = 100,000 30,000 70,000
O M27asl UetsaAgsdmsaus N
100,000,000& * 13 100,000
StEAMUE RS XA 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
02016 st=aJEFUE 50,000,000& = 13l 50,000
ANZMENESNEA WSHXA(Z) 12,000 9,600 2,400
= 3,600
Al 8,400
307 21201 A 12,000 9,600 2,400
< 3,600
Al 8,400




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 12,000 9,600 2,400
OMENSAEXN sl X
100,000& * 10¥ = 123l 12,000
< 3,600
Al 8,400
Eadaxd=sa4dsia 10,000 0 10,000
301 et d=s 10,000 0 10,000
09 SALAHIEA S 10,000 0 10,000
Onza 53¢ MEMSUHS =&
1,250,000& » 452 * 23| 10,000
ESpSeV RelbcIE=gu k=i ESDAR-! 250,000 0 250,000
307 21201 A 200,000 0 200,000
04 DIZHHALALSE E X 200,000 0 200,000
OM18s BA=2ZHMAMEUHS WX
200,000,000& * 12/ 200,000
401 AIEHI L 2CHEI 50,000 0 50,000
04 S AH2tE Al & H| 50,000 0 50,000
OHM18sl ZAS=HMHAMSUR BAANE &
£ 2 228 &% 50,000,000& = 14| 50,000
Hd=2ZEUS XA 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
02016 =HHIZS=NIIE 2 U3
30,000,000& = 13l 30,000
dMAZ=HMEONL2EXA 30,000 0 30,000
307 glz2t0l & 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
02016 HEUH2 A MAEZZHEOE
30,000,000& * 14 30,000
HRLCHAMNSUHIRXXA(LLE) 50,000 0 50,000
307 glz2+ol & 50,000 0 50,000
04 QIZFHALAIH E = 50,000 0 50,000
O MIUCES SSLHSHE R (L2IE)
25,000,000& * 2043l 50,000
d=RALE8FEI2U3 XA 170,000 0 170,000
307 gl2tol & 170,000 0 170,000
04 DIZHHALALSE E X 170,000 0 170,000
O 2016 d=2SA2E=7UE
170,000,000& * 13l 170,000
HOIE=U3 XI& 10,000 0 10,000
307 21201 A 10,000 0 10,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 10,000 0 10,000
Od5 &€ 8= =8 JHOE= Utal N
10,000,000& * 13l 10,000
AMMEESEIE 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
02016 AWAHZRSEIUS NA(BEE 90%)
20,000,000& = 13l 20,000
ZEHAZ MO =AS XA 55,000 0 55,000
307 21201 A 55,000 0 55,000
04 DIZHHALALSE E X 55,000 0 55,000
02016 ZEHI A A= HE XS
55,000,000& = 13l 55,000
ANol2sdzel (23t 2 /M) 380,017 219,994 160,023
=M SHEH 22l 66,796 80,645 A 13,849
I0XsHEH AlE 22 60,796 74,645 A 13,849
101 144 dl 8,684 8,036 648
04 D12t Z2XESE+ 8,684 8,036 648
O=OASHE SZ T
48,240% * 3% * 60 8,684
201 LB-2E | 52,112 56,609 N4, 497
02 =224l 52,112 56,609 N4,497
Og=A d2=J| X2
3,000,000& =« 1CH 3,000
Of=2&0| 2 |X el
200,000& * 54 1,000
O&HIIANE EFuA 2,000,000& = 14l 2,000
OJIA, &4l tH2wA 2,000,000& = 14 2,000
OdZe, 3&&d 23 WA 500,000 * 5& 2,500
OdA== ZIIZEA === 1,000,000& * 23] 2,000
OMd==x #E& 500,000 * 1H = 23] 1,000
Odidet)] AZHI(BR)
1,313& = 704 = 8AI2F = 40 29,412
2 M =2 100,000& * 13| 100
OMz==x =ZHZAN =2 100,000& * 13l 100
OME 23l FIFS L 24
2,000,000& * 2CH 4,000
OdlH A= H4H 200,000& = 53] 1,000
OCCTV & S X2t 1,000,000 = 200 A& 2,000
O2ZAIZ4H |X2e 2,000,000& = 14 2,000
HEMSs2 AL 22l 6,000 6,000 0




=3 s
NeSSEBR (25 LRB/HS)
SMSHH 22 )
SN HH-S(BN) - MBAY - B il HlnE2
201 Le-2d| 6,000 6,000 0
02 3322l 6,000 6,000 0
O&IIANE RANE= 2,000,000& * 14 2,000
OJIA, &dlii2 sX2el 500,0008 * 200 A 1,000
OAH=EE RX2el 3,000,000& * 14 3,000
M= AL 2 313,221 139,349 173,872
ARl 2sZ 2t 264,998 75,122 189,876
201 LBr2d| 261,478 75,122 186,356
01 At 22l 3,812 5,812 A 2,000
Oostaags ¢ 10,000& = 128 » 4014 480
oMgIsgNass 2
1,400& = 601 » 230 1,932
OelHIOIe BIIEA ==&
150,000 * 2CH 300
OJtAHEAAN =2 100,000& * 13| 100
oxcIZIl, &2lJ S sA=e
200,000& * 58 1,000
02 3323l 257,666 69,310 188,356
OdelHiole |Xl2el e
200,000& * 20H = 12& 4,800
OLYAld ZS3LEH  1,000,000& * 50 A 5,000
OLgAIE H=I/s&EE  1,000,0008 * 50 £ 5,000
OxAE BIRX 22| A
125,000& = 50 « 12& 7,500
OLYAIZ&H RR&2 1,000,000& * 14 1,000
OFZJI&¥ d&ge 23 WA 500,000& * 58 2,500
OdEJI&Hl 23 uA 100,000& * 203 2,000
O4dstth b2 |X2el 1,000,000 = 14! 1,000
Od3sttf A=t 2,000& = 2,000kg * 2 8,000
Odax=4 2] A2HI(HAUER)
937& * 2,7004 = 43 10,120
Oz -BHEY DSIEI FX2el
1,000,000 * 14 1,000
OxZd SHaZ o My
4,500,000& = 13l 4,500
O2sd =¥ & 2HJ =g
2,000,000& = 33| 6,000
Ot 4 S22 2te| 200,000& * 44! 800
Odses ¥ RERS 150,000& » 12& 1,800
OIS (Letn) 12,200,000 * 12& 146,400
OIS (MotEH) 900,000& = 123 10,800
O&MIRB(IZES) 45,000& ~ 12& 540
OXILB(LEH) 60,000& = 123 720




R s R SE=an);
. ANo2sEac(2se2E/As)
S MSAL2 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&EIIZHl BII& A 1,500,000 = 13l 1,500
O&ot=ER3 1,700,000& * 12&8 20,400
OAetdE 3l 50,000& * 13 50
O&gIl=l A3l 100,000 * 13/ 100
O S22k ASIH| 36,000& * 13 36
OdMERE=S 8,000,000& = 23| 16,000
Odsith 282 100,000& =+ 13l 100
206 M= Hl 3,520 0 3,520
01 =4l 3,520 0 3,520
O=ZJ1& &fj2e& Hz7
10,000& * 100 1,000
O=ZJ1& &f2eEd s47Y
12,0008 = 3& = 2004 720
OAgzel &7 7¢ 10,000& = 308 * 33l 900
O&lzIls ZU+8 600 * 250& * 63 900
HEXNS AL 2 48,223 64,227 A 16,004
101 @124 4] 12,543 11,607 936
04 JIZHHZ2XNHESE S 12,543 11,607 936
OMexs2 SFFHl 48,2408 + 2% + 50 4,824
OFZIIFEY STyl
48,240 * 2% = 50 4,824
OME3d % Jt=23te &l
48,240 * 2% = 30 2,895
201 Lt 10,680 29,900 A 19,220
01 At 22l 3,200 1,200 2,000
OFIItE e Xt =2 (EIMSI )
100,000& * 128 1,200
OpIZSIe Bl 2Ex4R
500,000& * 43 2,000
02 =224l 7,480 28,700 N 21,220
Odexsa MILH KNS
1,500,000 =« 23l 3,000
OQdEM=2 JIH, SHth2 RS>
1,000,000 * 14 1,000
OdEHs2 A5 &HA 200,000& = 53] 1,000
O&3tx A 12,0002 * 40m’ 480
OANRI2sE 22 sl
2,000,000& = 14 2,000
401 Al HIZ 201 I 25,000 21,000 4,000
01 A& HI 25,000 21,000 4,000
OFZJI& HE 5,000,000& = 14 5,000
OF2I® BB L B4
5,000,000& = 14 5,000




M MsSAEL
BE: ANSSTR(SHLBB/HS)
S MAE22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OUEXEFFHE RANES 5,000,000 = 1A 5,000
OBX=E=32H AR XES 5,000,008 * 14 5,000
O3JIH=IH ANE SIES
5,000,000& = 14 5,000
HESAAL(MSEEDN)(DIEH/DIEL 100,750 0 100,750
JlE& bl 100,750 0 100,750
Jl 2 AH| 100,750 0 100,750
201 YEr2 Y| 34,450 0 34,450
01 AR 22l ] 34,450 0 34,450
OsAMEXN 7L 15,000 * 158+ A = 128 2,700
OSZ20Aaldl 6,000& * B6A! x 15 x 128 6,480
Ogbteg 100,000& = 12& 1,200
OALFAR T ALY 50,000& * 12& 600
OAR2 =MdHI(MSAEDL, AME22E) 8,050
— Z2A %2l 500,000& = 2CH 1,000
— Z2lE %2 100,000 = 3CH = 50/100 150
— 2A EY 200,000& * 53 = 2CH 2,000
—T2EH EUH(EWN) 200,000 * 53 = 3CH 3,000
— D2 EU(Ze2t) 200,0008 * 53 ~ 104 1,000
—PC #=¢l 100,000 = 15CH = 20/100 300
— J|IEF =2lb| 50,000& * 12& 600
OJIEF AFR2t2l | 5,000& * 15 x 12& 900
O =AY 14,520
— X 60,000& = 1€ = 118Y 7,080
— =3 30,0003 = 1Y = 2482 7,440
202 04| 62,100 0 62,100
01 2L Y| 62,100 0 62,100
O2LH I 20,000& » 159 * 122 = 12& 43,200
O22 0yl 90,000 = 159 * 14¢ 18,900
203 ¥ R =&t 3,000 0 3,000
04 RNSYARETY] 3,000 0 3,000
ORM2YALETY 250,000 * 128 3,000
204 & 2 £~ H H| 1,200 0 1,200
01 XS RHAH| 1,200 0 1,200
OXMI A2 4LH2AH| 100,000& » 1€ ~ 12& 1,200




